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' il'i Niiib;.::frris questiiiii piper containp,tr*eiiparts A *q"Fi,it: i:;;: i;::i i:il: :i:: ::;,: l,i:i'"";" ''-"'Part 
A is cbrirpulsory which caiiies 25 marks. Answer all questibns in Part A. Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b, c as sub questions.

1.a) Write regular expression over alphabet {a, b, c} containing at least one 'a' and at
least one 'b' tzl

b) What is input buffering? How is input buffering implemented? t3l

e) What is the s - attributes and 1- attributes?

I O . What is activation record?

I g) What is dead code elimination and reduction in strength?
I tr) Define loop unrolling. Give an example.

!);, ;';:phat is mq{tLb..v register dqsq{iptor and ad&esg'flescriptor? l'.".,:'.;i i..., t'.Pl i."., l'.::
j).. ':..IIow to alldcaf6'iegisters to iirsktiction? : '.' r:.': : ". ::..: i "" ':.[3] i "" i:'"j

PART - B
(50 Marks)

"-:,:'",: 2.ii).:;'.:Explain thq.co&,ippt of boot$ffij1ing with e*iiiqille. i...':'.:: i...,:'":: !.,.';".:1

:.'i."' ir)'':"'corriaer ttje'r66owing Conllitiffialitatem"riti'q'"' :-" ;:": :-"' :;"'I :-" ;:"'

if (x > 3) then Y = 5 else Y = 10;
How does lexical analyzer help the above statement in process of compilation? t4+6]

l2l
t3l
t21
t3l

construct parse table of that t10l

5.a) Write a procedure to construct LALR parsing table.

i. , b) Write short notes on YACC. [5+5]

PART _ A
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OR
3..... 

"."Construct 
p.r"edictive parsing.tab.le for the following grammar.".. 

...

i.,:'i.,'F -* G) I ui.,:'i...i i..:'i..'i i.,:'i.."i i.,:'i..'i' ',"'L--+L,SlS'"'

4. Find the LR (0) set of items for the following grammar. Describe state diagram and

I



;"":t 6.i""., :'.:What is syiibol:table? Discrfrss:riarious waysilio oi;ganizing syiirbo.I:table. i..", ;'.:;[10] i.,.' 1.::1il.,: :...::,.: - 4".,::..: ;",;:",: oR a-..;:,,. '..."..0 i "'''... : "."..."

7. Translate the following expression:
(a+b) * (c + d) + (a + b + c) into
a) Quadruples b) Triples c) Indirect triples [3+3+4]

!'
T.

i.$:i s.il[' l"::mrnat is [v6iibii? Explain mssrie*s with suitdbfei"ekample. i.':'i,'i i.':" i,:.i i',;' i..'l
t bj' ' mit" a pro'cediiie toidentify 6aliic ulocks. ' " '"'' ' ' "ts+sl

OR
9. Illustrate loop optimization with suitable example. t10l

1Q,." "..pxplain'vari-qus.method to \aq{tq peephole opti.mization. :"... ..... ,.......".[10] !-.-: :".r.i::.i j'':j i;..i !',:. i;;li i'':'i-"i oR i',:. i-"i l'':'1""i !'':. i;..1 i'':'i"'"i
., 11. Generate the code forthefollowing expressionr X = (a+b) - ((c + d)-e). Also
,' fompute its cost. t10l


